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QUESTION 1

Several tables are accidentally deleted from a PDB. Which database would you immediately connect to, and as which
user, to recover these tables? 

A. the CDB as the ROOT user 

B. the CDB as the CDBADMIN user 

C. the PDB as the ROOT user 

D. the PDB as the PDB Admin user 

Correct Answer: A 

 

 

QUESTION 2

Your customer needs server availability that provides uninterrupted access to database services, handling any
unexpected failure of one or more machines hosting the database server, due to a hardware or software fault. Which
product should your customer use? 

A. Oracle Data Guard 

B. Oracle Streams 

C. Oracle Real Application Clusters 

D. Oracle GoldenGate 

Correct Answer: C 

Reference: http://www.oracle.com/technetwork/database/availability/maximum-availability-wp- 12c1896116.pdf (page 5,
Server HA: Oracle Real Application Clusters) 

 

QUESTION 3

Which statement about the Oracle Advanced Security Data Redaction feature is true? 

A. It transparently encrypts data at rest in Oracle databases. 

B. It securely manages encryption keys. 

C. It protects against theft or loss of disks and backups. 

D. It prevents OS users from inspecting tablespace files. 

E. It limits the exposure of sensitive data in applications. 

F. It alters data in caches, buffers, and persistent storage. 
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G. It impacts operational activities such as backup and restore, upgrade and patch, and replication. 

Correct Answer: E 

Redacting Sensitive Data for Display Data Redaction provides selective, on-the-fly redaction of sensitive data in query
results prior to display by applications so that unauthorized users cannot view the sensitive data. It enables consistent
redaction of database columns across application modules accessing the same data. Data Redaction minimizes
changes to applications because it does not alter actual data in internal database buffers, caches, or storage, and it
preserves the original data type and formatting when transformed data is returned to the application. Data Redaction
has no impact on database operational activities such as backup and restore, upgrade and patch, and high availability
clusters. 

Reference: Oracle Advanced Security, 12c, Oracle Data Sheet 

 

QUESTION 4

Your customer is planning for a maximum-availability architecture at their data center to address their planned
downtime, unplanned downtime, and replication needs. 

Consider these options: 

-Instance, site recovery, and heterogeneous setup 

-Inter-region and intra-region load balancing across replicated databases 

-Fine-grained error investigation of incorrect results 

-Integrated client and application failover 

-

Fastest and simplest database replication 

A. 

Oracle GoldenGate 

B. 

Global Data Services 

C. 

Oracle Data Guard 

D. 

Data Recovery Advisor 

E. 

Oracle Flashback technology 

F. 
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Oracle Advanced Queuing 

Which four options would you recommend? 

Correct Answer: ABCE 

Reference: http://docs.oracle.com/cd/E16655_01/server.121/e17601/unplanned.htm#HAOVW11824 

 

QUESTION 5

YOU want to move all objects of the CONSULTANT user from the test database to theDB- USER schema of the
production database. Which option of IMPDP would you use to accomplish this task? 

A. FULL 

B. SCHEMAS 

C. TRANSFORM 

D. REMAP_SCHEMA 

E. REMAP_TABLESPACE 

Correct Answer: D 
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